





SSR 5th CYCLE 2023

4.1.1 Infrastructure- Laboratories (UG and PG)



Affiliated to Mahatma Gandhi University, Kottayam, India NAAC Re-Accredited with A Grade in 4th Cycle (CGPA 3.45) www.uccollege.edu.in

SSR 5th CYCLE 2023

LABORATORIES (UG & PG)



LAB 1



LAB 3



LAB 5



LAB 7



LAB 2



LAB 4



LAB 6



SSR 5th CYCLE 2023

Affiliated to Mahatma Gandhi University, Kottayam, India NAAC Re-Accredited with A Grade in 4th Cycle (CGPA 3.45) www.uccollege.edu.in

List of laboratories								
Room No	class room	Length in meters	Width in meters	Area	Capacity			
MB12	II B.Sc. BT & SP	9.005	5.985	53.89493	50			
MB15	I B.Sc. Bioinformatics	8.982	5.981	53.72134	50			
MB16	III B.Sc. E & CM	8.66	6.02	52.1332	50			
MB27	II M.Sc. Biotechnology	5.844	5.844	34.15234	35			
MB30	I B.Com Model 2	9.104	6.031	54.90622	60			
MB34	I M.Sc. Biotechnology	8.972	5.978	53.63462	40			
MB37	III B.Com Model 1	9.001	5.987	53.88899	60			
NR16	III B.A. English	9.393	6.471	60.7821	50			
NR19	Common Classroom	9.375	5.67	53.15625	50			
РЈ9	II M.A. Economics	6.18	4.73	29.2314				
РЈ10	I M.A. Economics	6.18	4.173	25.78914				
BIO16	III B.Sc. Zoology	7.34	6.71	49.2514	35			
BIO13	I M.Sc. Botany	12.09	6.85	82.8165	15			
	II M.Sc. Botany classroom	7.56	7.65	57.834	15			
BIO12	III B.Sc. Botany classroom	6.12	5.88	35.9856	40			
BIO4	III B.Sc. Zoology classroom/ lab	7.96	7.01	55.7996	40			
BIO14	II M.Sc. Zoology class room/ lab	8.37	9.71	81.2727	15			
CSB8	III B.Sc. Computer science	6.18	6.05	37.389	50			
CSB9	II B.Sc. Computer science	8.36	6.1	50.996	50			
SC1	II B.Sc. Physics	11.3	7.15	80.795	120			



SSR 5th CYCLE 2023

Affiliated to Mahatma Gandhi University, Kottayam, India NAAC Re-Accredited with A Grade in 4th Cycle (CGPA 3.45) www.uccollege.edu.in

PB1	III B.Sc. Physics	11.41	7.18	81.9238	60
PB2	I M.Sc. Physics	6.69	4.86	32.5134	12
PB3	II M.Sc. Physics	6.68	5.53	36.9404	20
MBA17	MBA I	7.41	8.95	66.3195	60
MCA2	MCA CR4	7.03	10.53	74.0259	60
MCA3	MCA CR3	7.61	10.58	80.5138	60
MCA17	MCA CR 1	6.82	10.51	71.6782	60
MCA18	MCA CR 2	6.93	10.55	73.1115	60
MCA31	MBA class room VIII	12.99	9.01	117.0399	60







SSR 5th CYCLE 2023

4.1.1 Infrastructure- Research Rooms and Laboratories

Affiliated to Mahatma Gandhi University, Kottayam, India NAAC Re-Accredited with A Grade in 4th Cycle (CGPA 3.45) www.uccollege.edu.in

SSR 5th CYCLE 2023

RESEARCH ROOMS AND LABORATORIES



RESEARCH LAB 1



RESEARCH LAB 3



RESEARCH LAB 5



RESEARCH LAB 2



RESEARCH LAB 4



RESEARCH LAB 6



Affiliated to Mahatma Gandhi University, Kottayam, India NAAC Re-Accredited with A Grade in 4th Cycle (CGPA 3.45) www.uccollege.edu.in

SSR 5th CYCLE 2023



RESEARCH LAB 7



RESEARCH LAB 8



RESEARCH LAB 9



RESEARCH LAB 10



RESEARCH LAB 11



RESEARCH LAB 12